Exercise 6.1-1

Shuffling Fermi Functions

’ "Shuffling" Fermi distributions, while not really difficult, needs some practice and getting used to; it is good exercise
to do it a few times (you may also consider to try it for some shuffling done before).

Show that the 1st laser condition

EF—ErFN > hv = Eg

follows directly from

Rse [fein c(E1+ hv, EE€, T)] - [fh in V(E1, EF", T)]

Rla [L-fhinv(E 1, EFN, T [1-feinc(E1+hv, EF®, T)

’ Link to the solution
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http://www.tf.uni-kiel.de/matwis/amat/semi_en/kap_2/backbone/r2_3_3.html#_12
http://www.tf.uni-kiel.de/matwis/amat/semi_en/kap_6/exercise/s6_1_1.html
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